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4. Process

[LOG ] Run A|ZE}: void testing:Test:Run() DataA
[FactorialTest.Negative] [CALL ] (0) int Factorial(int) (arg0=-5)
[FactorialTest.Negative] [RETURN1] (0) int Factorial(int) => 1
[FactorialTest.Negative] [CALL ] (0) int Factorial(int) (arg0=-1)

#include "samplel.h" [FactorialTest.Negative] [RETURN1] (0) int Factorial(int) => 1
[FactorialTest.Negative] [CALL ] (0) int Factorial(int) (arg0=-10)
[FactorialTest.Negative] [RETURN1] (0) int Factorial(int) => 1
[LOG ] Run &: void testing:Test:Run()

#include <limits.h>

[LOG ] Run AlZk: void testing:Test:Run()

TEST(FactorialTest, Negative) { [FactorialTest.Zero] [CALL ] (0) int Factorial(int) (arg0=0)
Thi t is named v ! s to the torialTest" [FactorialTest.Zero] [RETURN1] (0) int Factorial(int) => 1
test ¢ . [LOG ]Run &: void testing:Test:Run()

EXPECT_EQ(1, Factorial(-5));

EXPECT_EQ(1, Factorial(-1));

EXPECT_GT(Factorial(-10), @);

LOG ] Run A|Z: void testing:Test:Run()

FactorialTest.Positive] [CALL ] (0) int Factorial(int) (arg0=1)
FactorialTest.Positive] [RETURN1] (0) int Factorial(int) => 1 TestRunner FactorialTest.Negative Factoriallnstance
FactorialTest.Positive] [CALL ] (0) int Factorial(int) (arg0=2) a

FactorialTest.Positive] [RETURN1] (0) int Factorial(int) => 2

[
[
[ ]
Tests factorial of . [ ]
[ ]
[FactorialTest.Positive] [CALL ] (0) int Factorial(int) (arg0=3)
[ ]
[ ]
[
[

TEST(FactorialTest, Zero) { EXPECT_EQ(1, Factorial(@)); }

Tests factorial of po e _numbe
TEST(FactorialTest, Positive) {
EXPECT_EQ(1, Factorial(1));
EXPECT_EQ(2, Factorial(2));
EXPECT_EQ(6, Factorial(3));
EXPECT_EQ(46320, Factorial(8));

FactorialTest.Positive] [CALL ] (0) int Factorial(int) (arg0=8) a int Factorial(int) (arg0=-5)
FactorialTest.Positive] [RETURN1] (0) int Factorial(int) => 40320
LOG ] Run &: void testing:Test:Run()

)

(

) [y
FactorialTest.Positive] [RETURN1] (0) int Factorial(int) => 6 TestBody()

)

(

LOG ] Run A%} void testing:Test:Run() 12ty
IsPrimeTest.Negative] [CALL ] (0) bool IsPrime(int) (arg0=-1) int Factorial(int) (arg0=-1)
Te IsPrimeTest.Negative] [RETURN1] (0) bool IsPrime(int) => 0 A

[
[
[ ] [ a
[IsPrimeTest.Negative] [CALL ] (0) bool IsPrime(int) (arg0=-2)
Last inn [IsPrimeTest.Negative] [RETURN1] (0) bool IsPrime(int) => 0
TEST(IsPrimeTest, Negative) { [IsPrimeTest.Negative] [CALL ] (0) bool IsPrime(int) (arg0=-2147483648)

. see. 0

[

This test belongs to the IsPrimeTe IsPrimeTest.Negative] [RETURN1] (0) bool IsPrime(int) => 0 1zint
LOG ] Run &: void testing:Test:Run()

int Factorial(int) (arg0=-10)

EXPECT_FALSE(IsPrime(-1));
EXPECT_FALSE(IsPrime(-2));
EXPECT_FALSE (IsPrime(INT_MIN));

}

LOG ] Run A%} void testing:Test:Run()
IsPrimeTest.Trivial] [CALL ] (0) bool IsPrime(int) (arg0=0)
IsPrimeTest.Trivial] [RETURN1] (0) bool IsPrime(int) => 0 1:int
TEeT SME TrIvial cases. IsPrimeTest.Trivial] [CALL ] (0) bool IsPrime(int) (arg0=1)
TEST(IsPrimeTest, Trivial) { IsPrimeTest.Trivial] [RETURN1] (0) bool IsPrime(int) => 0
EXPECT_FALSE(IsPrime(@)); IsPrimeTest.Trivial] [CALL ] (0) bool IsPrime(int) (arg0=2)
][
][
1

[
[
[
[
[
[

EXPECT_FALSE(IsPrime(1)); [IsPrimeTest.Trivial] [RETURN1] (0) bool IsPrime(int) => 1
EXPECT_TRUE(IsPrime(2)); [IsPrimeTest.Trivial] [CALL ] (0) bool IsPrime(int) (arg0=3)
EXPECT_TRUE(IsPrime(3)); [IsPrimeTest.Trivial] [RETURN1] (0) bool IsPrime(int) => 1
[LOG ] Run &: void testing:Test:Run()

TEST(IsPrimeTest, Positive)
EXPECT_FALSE(IsPrime(4));
EXPECT_TRUE(IsPrime(5));
EXPECT_FALSE(IsPrime(6));
EXPECT_TRUE(IsPrime(23));

LOG ] Run A%} void testing:Test:Run()
IsPrimeTest.Positive] [CALL ] (0) bool IsPrime(int) (arg0=4)
IsPrimeTest.Positive] [RETURN1] (0) bool IsPrime(int) => 0
IsPrimeTest.Positive] [CALL ] (0) bool IsPrime(int) (arg0=5)
IsPrimeTest.Positive] [RETURN1] (0) bool IsPrime(int) => 1
IsPrimeTest.Positive] [CALL ] (0) bool IsPrime(int) (arg0=6)

]

%

i

IsPrimeTest.Positive] [RETURN1] (0) bool IsPrime(int) => 0
IsPrimeTest.Positive] [CALL ] (0) bool IsPrime(int) (arg0=23)
IsPrimeTest.Positive] [RETURN1] (0) bool IsPrime(int) => 1

[
[
[
[
[
[
[
%
[LOG ] Run &: void testing:Test:Run()
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: void : void
void Queue<int>-Enqueuve{const int &) (arg0=2) )‘:I
void - void

'void Queue<int>~Enqueuel{const int &) (arg0=3)
void: W'U)U

el
o~

igned long int Queue<int>-Size{) ‘
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int Factorial(igt) (argl=2)

e
e

int Factorial(igt) (arg0=3)

=
-

int Factorial(igt) (arg0=8)

input : 1
Factorial(input)

input : 2
Factorial(input)

input : 3
Factorial(input)

input : 8
Factorial(input)

: 40320
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